HHi%/OUTPUT IR/ INPUT

C16 c8
c11 c17 C15
|
C23h9 b C20 c19 > -
H |
=l 26 1L | O
g - Ny
> ( ] A R
[ Q }
@C24n6 B Cc21 !
L )
c18
wEk > 10
mEgAe | C ] C2] C3 c5 c7lcs ] el el as]cal s sl a7 [as o] coolcea] co2 [cas [oos [o2s5] coe
B656_AGLT12)X_B 145 | M8x25 UFTESS o 10re(38) | 130 | 180 | 130 | 148 | 85 | 130 | 10 | 62 | 52 | 8 | 40 | 5 | 30 |o110g6(35) 100903 ) [03206(0s)| 35 fraxt. 7o
B656_AGLT42)X B 145 | M8x25 [PUFTESINNOTIOCTORNT) | 142 | 213 | 142 | 186 | 11 | 165 | 18 | 97 | 79 | 15 | 63 | 5 | 36 913006000 1209('00ss) |0406( sl 43 | Mi6K2P
B656_AGLI42%X_D 165 |M10x25 932 7CR%s)|013067(%0 142 | 213 | 142 | 186 | 11 | 165 | 18 | 97 | 79 | 15 | 63 | 5 | 36 [#13005(505) 1209 00) |040n6(!0gs) 43 | M16X2P
+0.014
B656_AGL18214_B 145 | M8x30 [924F7(3%48) jo11067(080) | 142 | 240 | 180 | 240 | 13 | 215 | 15 | 105 | 82 | 20 | 70 | 6 | 42 P60g6(RH) 1609 00x) |95506(Eee) 59 uoow2.5
B650_ACL182( D 165 |M10x25 WSITCHES (01306071250 155 | 235 | 180 | 240 | 13 | 215 | 15 | 106 | 8 | 20 | 70 | & | 40 |#160g6(30%) 16n9( B0 [#55h6(H0)| 59 M20x2.5P
+0.014
B656_AGL2220 D 165 |M10x25 PS2FTCRGs) (0130670550 155 | 277 | 220 | 202 | 17 | 250 | 20 | 138 | 105 | 30 | 90 | 7 | 42 [#180g6(55%) 2009('Ress) [#7506(R0ie)| 79.5 Ioox2.5P
V1
= A ERE BE|H R | B+
o \ N
/N
i ———— AR YRR
G M T KA LR e
@ B 0 000 = mm| © = W 8 | 0650 ACLORXX

MAP201908011845




